
www.vman-engine.com

 

Shanghai VMAN engine Co.,Ltd 
Building102-202, Zone E10, Bay Valley II, 

 No.1566 Guoquan Rd(N)  
Shanghai , 200438 

Marks Parts Parts NO
Unit
Qty

8000h Unit Price

Each
Engine
Demand

USD

Per 200 hours should
replace(or 6 month if instock)

Oil filter element 机油滤芯 95.04302-6001-8 1 40 $13.0

Air filter element 空滤芯 AA90138 1 16 $108.7

Fuel fine filter cartridge 燃油精滤滤芯 95-12503-5018A-3 1 16 $13.0

Fan belt ⻛扇⽪带

Generator belt 发电机⽪带

Coolant-Temp-Sensor⽔温传感器部件 M16*1.5-VDO 120 1 8 $26.1

Oil Pressure Temperature Sensor 机油压⼒温度传感器 M10*1-VDO 1 8 $34.8

Crankshaft Position Sensor 曲轴转⻆传感器 S00038503 1 8 $74.3

Tensioner 张紧轮部件

Fan Tensioner ⻛扇张紧轮部件

Intake valve 进⽓阀 S00002885 8 16 $6.4

Exhaust valve 排⽓阀 S00002886 8 16 $6.4

Bearing upper connecting rod 连杆上⽡ S00004365 4 8 $3.3

Bearing lower connecting rod 连杆下⽡ S00004366 4 8 $2.5

Connecting rod assembly 连杆组件 S00001412 4 8 $65.1

Thermostat element 节温器部件 S00003087 1 2 $7.2

Piston 活塞 S00000970 4 4 $65.4

Piston Pin 活塞销 S00001198 4 4 $10.5

Piston ring (2nd) 第⼆⽓环 S00000974 4 4 $3.6

Piston ring (1st) 第⼀⽓环 S00000973 4 4 $13.8

Piston ring (Oil) 活塞环 S00000975 4 4 $4.9

Oil cooler assembly 机冷器部件 S00003083 1 1 $64.0

Crank shaft  曲轴 S00003262 1 1 $857.4

Main Bearing (Upper) 主轴⽡（上） S00004362 4 4 $2.8

Main Bearing (Lower) 主轴⽡（下） S00004363 5 5 $2.6

Sealing Cylinderhead Cover⽓缸盖罩密封条 S00005034 1 1 $8.5

Gasket cylinder head ⽓缸盖垫⽚ S00030929 1 1 $34.0

Oil cooler gasket 机冷器垫⽚ S00004864 1 1 $6.7

Starter 起动机部件 S00051188+02 1 1 $268.3

Altern 发电机部件 S00012989+04 1 1 $176.0

Common Rail Pump Assy 电控燃油泵 S00060732+01 1 1 $935.3

As Oil Pump 机油泵部件 S00022688 1 1 $71.4

Water-Circulation Pump ⽔泵部件 S00003086 1 1 $82.6

Exhaust manifold -front&rear排⽓歧管前后段 S00011279 1 1 $75.8

Exhaust manifold gasket排⽓歧管垫⽚ S00040811 4 4 $3.3

3

$23.9

$71.4

Need checked and replace when it
broken

S00017994

S00007858

1

1

Per 2000 hours  should checked,
need be replace if broken

Per 2400 hours should
replace

Per 3000-4000 hours should
checked, need be replace if broken

Per 6000-8000 hours should
checked, need be replace if broken

More than 9000 hours should
checked, need be replace if broken

8000 hours maintenance spareparts 2023 (C04A3/A2/B3/B2)

Per 500 hours should
replace

Per 1000 hours should
replace

8



www.vman-engine.com

                                 S          

 

Shanghai VMAN engine Co.,Ltd 
Building102-202, Zone E10, Bay Valley II, 

 No.1566 Guoquan Rd(N)  
Shanghai , 200438 

Marks Parts Parts NO
Unit
Qty

8000H Unit Price

Each
Engine
Demand

USD

Per 200 hours should
replace(or 6 month if instock)

Oil filter element 机油滤芯 95.04302-6001-8 1 40 $13.0

Air filter element 空滤芯 AH24178 00MF 1 16 $108.7

Fuel fine filter cartridge 燃油精滤滤芯 95-12503-5018A-3 1 16 $13.0

Fan belt ⻛扇⽪带

Generator belt 发电机⽪带

Coolant-Temp-Sensor⽔温传感器部件 M16*1.5-VDO 120 1 4 $26.1

Oil Pressure Temperature Sensor 机油压⼒温度传感器 M10*1-VDO 1 4 $34.8

Crankshaft Position Sensor 曲轴转⻆传感器 S00038503 1 4 $74.3

Tensioner 张紧轮部件

Fan Tensioner ⻛扇张紧轮部件

Intake valve 进⽓阀 S00002885 8 16 $5.5

Exhaust valve 排⽓阀 S00002886 8 16 $5.5

Bearing upper connecting rod 连杆上⽡ S00004365 4 8 $2.9

Bearing lower connecting rod 连杆下⽡ S00004366 4 8 $2.2

Connecting rod assembly 连杆组件 S00001412 4 8 $56.4

Thermostat element 节温器部件 S00003087 1 2 $6.2

Piston 活塞 S00009693 4 4 $44.2

Piston Pin 活塞销 S00001198 4 4 $9.1

Piston ring (2nd) 第⼆⽓环 S00000974 4 4 $3.1

Piston ring (1st) 第⼀⽓环 S00000973 4 4 $12.0

Piston ring (Oil) 活塞环 S00000975 4 4 $4.2

Oil cooler assembly 机冷器部件 S00003083 1 1 $55.4

Crank shaft  曲轴 S00003262 1 1 $743.0

Main Bearing (Upper) 主轴⽡（上） S00004362 4 4 $2.4

Main Bearing (Lower) 主轴⽡（下） S00004363 5 5 $2.3

Sealing Cylinderhead Cover⽓缸盖罩密封条 S00005034 1 1 $7.3

Gasket cylinder head ⽓缸盖垫⽚ S00030929 2 2 $29.5

Oil cooler gasket 机冷器垫⽚ S00004864 1 1 $5.8

Starter 起动机部件 S00051188+02 1 1 $232.5

Altern 发电机部件 S00012989+04 1 1 $152.5

Common Rail Pump Assy 电控燃油泵 S00060731+01 1 1 $1,085.7

As Oil Pump 机油泵部件 S00003090 1 1 $69.7

Water-Circulation Pump ⽔泵部件 S00003086 1 1 $71.6

Exhaust manifold -front&rear排⽓歧管前后段 S00011279 1 1 $65.7

Exhaust manifold gasket排⽓歧管垫⽚ S00040811 4 4 $2.9

3

$25.0

$71.4

Need checked and replace when it
broken

S00048950

S00007858

1

1

Per 2000 hours  should checked,
need be replace if broken

Per 2400 hours should
replace

Per 3000-4000 hours should
checked, need be replace if broken

Per 6000-8000 hours should
checked, need be replace if broken

More than 9000 hours should
checked, need be replace if broken

8000 hours maintenance spareparts 2023 (C04A1/A/B1/B)

Per 500 hours should
replace

Per 1000 hours should
replace

8


